Vgl diez 24 o




>
> ®E . 5drem?

=9 Ful= g X (1 x 3% x 9) = 54n(cm?) ©|t},




@ 8 @ 10 ® 11

Al \9] doj= 25
7V 71 o] 4ol q
[A=k=S
a+(a-1)>a+5
T a>6

FrolBR g-1>0,a> 1

+57F

2 % 9| Zole] et Folo}




oS 1388 /XOY ¢ 27|17}

4.

Y

=EF

® OD

OC =EF

=
o

EF o],

12, CD =

OC=0D=0E=0F ©




2 (2 ¢h
T (3) Le

[e]
A2 glet

o
=
|

.

HA

=
(3]

)
%

5.




6. FH7}36mem?® )1 72 REX[F2| Aol & 5ozt

» E cm

> HE:. 3cm

79 §H21 59 ZolE rem 2t st

gnr3 =36m,r3=27,r=3




S AADC = AABC©o] ASA gEo| 57| D
A5 BaskA] e A

O AC =315 @)AD = AB
@ /BAC = /DAC (@) :aBC = 2ADC
® /BCA = /DCA

ACE 3%, /BAC = /DAC, /DCA = /BCA
w2t AADC = AABC(ASAES) o|tt.




th2 "4 LABE = Z/ACD, AB = AC
Q1 AACD 9t AABE A BE = CD Y& % B
g o, AHSEE AT e deER2?
A——L—E
> iy
> HED ASA T
So|B2 ASA &5

/ABE = /ACD, AB = ACo|1, /AL Z

olct.







10. o2 1A 2 A 1S 350 2 oo 1A AJAA A7 = S| A <
Belol&=?
l
s
\\
13cm

\|

!

S5cm

O 50mcm? @ 60mcm? ® 70mecm?
@ 80mcm? (6)907Tcm2
BAEo] §o] Aoj= U] et goug

2Xx5xnm=10xr

1
(BHol) =nx5%+ 3 %

13 X 10 = 2571 + 651 = 907




—_
7 {
K m
an)
ay
E ) z
Nfo < ol
ojn . _1_1m_m
) N N
® .
:z wE
__os_.“cV % ‘WE
X
ol = N
T B N m
| 5 T T
J_v..u.ul ™ m < N of
XA - ~ ~ Xq Hu N
=K U =
i o o @ b o &
= & N o 5
T )
Sy A Q NN R
i . | e,
T _— rrEx
T < . T ol Uk
1 _.E-_ o A —~ —~ — O
o 7 Oa N == ,me

11.



N
=B
T
o Wo o o0
X ol X ~B
RO g RRO
o8 o o
bl s
P HEHN H 8
ol N O A T
NN
g% oo B
= N E WS

0
™ B X

OCOLWOO




13. o= I182 47 ABC o4 ¥ BC ol B33t A2 DE & SHo2
TAHE A7 BC 9ol L5 2 ngoltt, LABC = 70° & o,
(x°] A71E F-HH?

A
N
/ \\
/
\
/l \\
/ \
D
X
70° R
B F - C

@® 30° @ 40° ® 50° @ 60° ® 70°

B F C
/ADE = /DBF = 70° (5917}
(ADE = /FDE = 70° (82 2}
< 2x = 180° — 140° = 40°




14. o= 2™ 22 JEEAolAd 242 BC oF YA &, Tt =
e

B BAEE B A2
A
B D
F
@ AB, AD, DF, ED @ AE, AD, DE, EF
®)AE, AD, DF, EF @ BE, AD, CD, EF

® AE, BE, DF, EF

A e BC ¢ oA = WA k= Al E] &, 731 912] ¢
9J 2 X2l AE, AD, DF, EF o]t}




15. ©h 199 aABC o ¥ 12 ¥x80] Zol7} lom 9 4 F2A
A7) Se1E 7 ] 5 ), o] AUk o] yolk?

@47r + 48(cm?) @ 2m + 48(cm?) ® 27+ 40(cm?)

@ 4m + 40(cm?) ® 61 + 50(cm?)

o] 17k 22| Yol A A2l Azt e] Hole} Al gel
Zo]7t 2cm Q1 99 WolE | ?F A% £t
S =rx22+2x% (10 + 6+ 8) = 4xr + 48(cm?)




